Genetics Worksheet # 2




Name ________________________








Date _________________ Per ____

Match the word with the correct definition.  Write the letter in the blank provided.

____ 1. Allele that is seen even if present with the recessive form.

A. Heredity

____ 2. Another word for egg and sperm cells.



B. Chromosomes

____ 3. Units of hereditary information (codes for one protein).

C. Genes

____ 4. Two identical alleles for a trait.




D. Alleles

____ 5. The genetic make-up of an organism.



E. Dominant

____ 6. The physical characteristics of an organism.



F. Recessive

____ 7. When a plant fertilizes itself.





G. Genotype

____ 8. The passing of traits from parent to offspring.


H. Phenotype

____ 10. Two different alleles for a trait.




I. Homozygous











J. Heterozygous











K. Self-pollination











L. Cross-pollination











M. Gametes

11.  Label the following generations correctly using F2, F1 and P.



You 


__________



Your grandparents 
__________



Your parents 

__________

12.  Label the following genotypes as heterozygous or homozygous.  Then indicate the phenotype for each genotype.  Assume that E stands for large eyes and e stands for small eyes.

	Genotype
	Homozygous or Heterozygous
	Phenotype

	EE
	
	

	Ee
	
	

	ee
	
	


13.  What gametes could be made by organisms having the following genotypes?



A.  AA



B.  Aa



C.  aa



D. AaBB (try this one!)

14.  In humans, having six fingers is dominant to having five fingers.  Using T and t to stand for the alleles, answer the following questions.


What is the genotype of a heterozygous human? __________


What is the phenotype of a heterozygous human? __________


Think:  Since this is true, then why aren’t there more humans with six fingers?

15.  Complete the following crosses using the Punnett square method.  Give phenotype and genotype ratios for each cross.


F – Free earlobes








f – attached earlobes

A.  FF  x  ff




B.  FF  x  Ff

C.  Ff  x  Ff




D.  Heterozygous free earlobes  x  attached earlobes

16.  In fruit flies, red (R) eye color is dominant over white (r) eye color.  Use the Punnett square method to determine the phenotype and genotype ratios for the following cross:



heterozygous red eyed    x    white eyed

17.  In peas, a green pod (G) is dominant to a yellow pod (g).  Use the Punnett square method to determine the phenotype and genotype ratios for the following cross:



heterozygous green pod    x    heterozygous green pod

